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‘The number of gallons of water in a leaking pool is determined by thelfate that the Water il

md the rate the wate |mfmm the pool, 985528 = Swhere g represents the lllll‘l‘lbtl‘ ut g’lllom U‘ltt.t‘lﬂg or lu\ mg
the pool per minute. Write an L\pt(‘\‘ulun for the change u;lllum »er minute of the water i the pool.

*\EeQLS = c‘scmg AdW Subtyactio e
(tq 24 - LD-*\ (C\g 26~ ) Q{A»%g |

an a bu)l()ght 1 jaletltifeg at ditferent temperatures as a part of her research. She has rwo
dltftnm cultures growing. One, at "5“ -, 15 given by the polynomi d_“ here f1s minutes. The number of
cells i the second culture, at 35° C| 15 modclcd by the pe :lynnmia“l"iud the polynomual rcprvsuntmg“
re in the 25°C culture for tme &
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Perimeter application.

5. The figure below shows the measurements ot a neighborhood park. I'md th i ot the shape. N
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6. Latde Mountan 1 lementary School has plans 1o double the area of thetr parking lot. The diagram below shows

the shape ot the new parking, lot Find the expression tor the ,pcmnéterufthemm rectanguhrpakagiot.!
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7. The local zoo has plans to double the home of the giraffes. The need to find the perimeter to know how much

tencing will be needed. Find the expression for thmp:iﬂﬂ’éfﬂ?&?ﬁié%@ﬁ
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8. I'md th {PERMEIERS f the given trangle.
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(Revenue)— (cost) = Profit
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Finding Profit

Find the profit using the given revenue and costs polynomials.

9. Revenue: 12x - 0.0003x° : 10, Cost: y* + 15y + 75,000
Cost: 340 + Tx Revenue: 4y° + 45 + 100,000
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Subtracting to Find Profit Word Problems

12. The n dollars of producing x toothbrushes is given by the pnlynotniand the&cvenuﬂ

generated from sales is given by the pol}‘nomialpﬂx — 0.00004x°\Write 2 polynomial expression for the profit from
making and selling x toothbrushes.
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13. The totalEevcnue lof a CD company 1s modeled by the cxpressionﬁ]‘lx: + 2.35x + 9hwhere xis the number of
CD’s produced per week. The totalfproducing x CID)’s 1s modeled by the expressior 0.02x" + 1.25x - 12
what 1s the total profit earned by the CD Company~
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14. The total_he app Snapchat makes 1s modeled by the expression @whcrc thrhenib{f

of dollars they make in millions. The t()taoftn'unt(,n'lnct. for the app 1s modeled by the expression{4x’ + 12
@\vhat 1s the total profit earned by the oy f Snapchat?
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